Return from fm_integrate. Function n = 1. a, b =
7.85398163397448309615660845819875721049292349843776455243736M-1
1.57079632679489661923132169163975144209858469968755291048747M+0

tol = 1.00000000M-40
318 function calls were made in  0.00695 seconds.

result =
1.06082967612829418193965438558005799790103356667175782093367M-2

Error for case 1 = 3.1923M-064

Return from fm_integrate. Function n = 2. a, b =
0.00000000000000000000000000000000000000000000000000000000000M @
1.00000000000000000000000000000000000000000000000000000000000OM+0

tol = 1.00000000M-40
319 function calls were made in 0.00738 seconds.

result =
9.18938533204672741780329736405617639861397473637783412817152M-1

Error for case 2 = 1.3650M-64

Return from fm_integrate. Function n = 3. a, b =
0.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000M @
1.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000M+0
tol = 1.00000000M-100
1577 function calls were made in  0.10403 seconds.
result =
2.2214414690791831235079404950303468493073108446878451115426978034782173
9654973695528766346738238261868170510634261439568M+0

Error for case 3 = 1.0000M-126

Return from fm_integrate. Function n = 4. a, b =
0.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000M @
1.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000M+0
tol = 1.00000000M-100
5569 function calls were made in  0.11439 seconds.
result =
1.2533141373155002512078826424055226265034933703049691583149617881711468
2730392098747329791918902863305800498633260193982M+0

Error for case 4 = 0.0000M @



Return from fm_integrate. Function n = 5. a, b =
1.0471975511965977461542144610931676280657231331250352736583148641026054
6876206966620934494178070568932738269550442743554903128153651686074390845
31360428270391500947009006M+0
1.5707963267948966192313216916397514420985846996875529104874722961539082
0314310449931401741267105853399107404325664115332354692230477529111586267
970400642405587251420513510M+0
tol = 1.00000000M-150
10683 function calls were made in 0.47260 seconds.
result =
8.8891492781635326359890415420355001469946129618421317713105726777190782
9471870439604270738734807376167636780921493758736328585345907297070981878
78645447928054701654772889M-1

Error for case 5 = 9.06058M-177

Return from fm_integrate. Function n = 61. a, b =
0.0000000000000000000000000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000000000000000V000000000000
00000000000000000000000000M 0
1.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000000000000000000000000000
00000000000000000000000000M+0

tol = 1.00000000M-150
1465 function calls were made in 0.10110 seconds.

result =
4.0389425726479204571142872984662421505768924647334402979440135745490116
0694411204871467899888085592681252450412993780807343213477918742955425756
24911559985812283596650941M-1

Return from fm_integrate. Function n = 62. a, b =
0.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000000000000000000000000000
00000000000000000000000000M @
1.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000000000000000000000000000
00000000000000000000000000M+0

tol = 1.00000000M-150
1465 function calls were made in 0.09483 seconds.

result =
4.8502067055156121788747542435692579964177204971086914733665591031700666
8777459234732802838846721783486384330508499977928985371867988554115556122
53733887942242418058121948M-1

Adding these last two integrals gives the case 6 result:
8.8891492781635326359890415420355001469946129618421317713105726777190782
9471870439604270738734807376167636780921493758736328585345907297070981878
78645447928054701654772889M-1

Error for case 6 = 4.3972M-178



Return from fm_integrate. Function n = 7. a, b =
0.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000000000000000000000000000
00000000000000000000000000M 0
1.0000000000000000000000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000000000000000000000000000
00000000000000000000000000M+0
tol = 1.00000000M-150
1465 function calls were made in  0.15123 seconds.
result =
8.8891492781635326359890415420355001469946129618421317713105726777190782
9471870439604270738734807376167636780921493758736328585345907297070981878
78645447928054701654772889M-1

Error for case 7 = 4.3972M-178

All results were ok -- no errors were found.



